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Putting the presentation together

" Think about setting/audience
" Limit number of slides

® Use simple bullet points on each slide:

- easy to follow
- prompts for you as speaker

" Use clear fonts, and keep bullets short

" Have a pdf version of presentation!




Putting the presentation together

" Clear outline of paper being presented:

- motivation

- previous literature

- objective of research
- the “bottom line”

® Succinct description of model being used
" Provide statement of key results

® Conclusions and future research




Making the presentation

® Set/check ground-rules with moderator
" Adapt pace of talk to time constraints
" Relax and engage audience

" Ensure everyone can see screen

" Follow time-signals from moderator

" If time Is running out - summarize
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Some typical pitfalls.........

Garish slides!

Slides based on actual pages of the paper
Excessive use of mathematics

Too many slides

Tables of econometric results in small font
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The world price for irade between the home country and foreign couniry i iz 3™ = 93’ /p,. Notice
that p** iz thua foreign country i's terma of trade. Defining T=1+¢ and 7' =1+ ¢, we have
that p = 7" and »*' = (1/7*")p*'. Since the home couniry applies a non-dizeriminatory tarif,
we thus zee that p*! = p*? = p“; that i3, the two foreign countriez must share the zame terma
of irade when the home country adopta an MFN tanff policy. We thus have that » = " and
7" = (1/7*")p". Finally, we note thai the home couniry's terms of trade in thiz MFN zetiing iz
given as 1/p".

In a given country, once the local and world prices are determined, all economic guantities
(production, consumption, tariff revenue, importa, exporia) are alio determined. In turn. for a

‘L 7*?), once we determine a market-clearing world price, 3(r, 71, 77,

given set of tarffs, (T 7
then all local prices are determined. Thia follow:z since the pricing relationships just prezented then
vield the local prices as p(v,3) = 75" and p*'{7"'.3%) = (1/7"")3", respectively. Finally, ihe
market-clearing world price 15 determined az the world price which ensures that the home-country
importa of good = equals the sum of exportz of good x from foreign countriez 1 and 2; in other

words, 7(7,7*", 7*?) iz the value for ™ which zclves
Mip(r,p¥),p*) = E* (p*H(r*1, p¥). 0¥) + E2 (p*3 (7" p¥), 2%). (1)

Az 15 standard, for each country, we azsume as well that import and export functionsz are defined

in @ manner that zatisfies trade balance

E(p.»")
p“E*(p* p") fari =1,2,

where E(p, ") denotes home-country exports of geod y and M*'(»*', ") reprezents foreign-country-

t imporiz of good y. The markei-clearing requirement for good y 1z then imphed by (1) and (2).

Source: Bagwell and Staiger, 2012
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messy math
Methods y

The First-Order Conditions

My math is awesome!!!

P Differentiating
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Table 5

The determinants of 505, 0, and BOD emissions per capita (@l renced GMML

Variable 50, (Protesl) 50, €0y, (Pretacal) o, BOD (Protocd ) EOD
InE._, 057" (T 060 0.60° Q57" 058
(70.81) (90.02) (31.72) {28.38) (2673) {21.52)
5 1.00%= 111%* 082" 084" a79"" 095"
(7.82) (7.77) {6.95) (621) {—491) { 5.9
52 0.907* 0.96° 043" [T 020" 014°
{-833) (- 15.6) (=5.47) {~4.68) {=202) (~1.94)
KL 0.013 08 007" 0078 Q= 022"
(032) {1%)] (213) (2107) (491) (724)
(KL 0Bl 0|3~ 0014 0013 043~ 0045
{~3.66) {~5.56) {-3.52) {-3.8) {~1057) (-9.81)
(KLS 0z 028"~ 0095 0L089"* 0z21=* 020
(522 (8.94) (3.16) 2.72) (&1) (6.76)
T 00014 0B 00024 G Q0005 000050
(433 (7.96) {14.41) {(20.9) (1L43) {(19)
T relative (K1) 0.0013" 006" 0,001 4" 0.0014** Q003" 00048
{~1.66) (=2.37) (~2.65) {~2.55) (=577) (=6.41)
T relative (KLF 00011 00 1= 000066 000064 Q0017 00019
(4.19) (612) {5.92) (6.02) (632) {5.99)
T relative 5 00010 0.0011* 000059 000065 Q0018** 00023
{=1.79) (=2.27) {~1.83) {~1.76) (424) {5.45)
T relative 52 000074 LTS 00007 OLOmEE"" Q00023 0LO0MT* =
(8.01) {12.18) (4.6) (4.21) (211) (313
Trel (KJL) rel 5 0005 0005 000077 OO0~ Q003" 0.0013"
{=6.07) ( =11.00) {1 49) {~d.48) [~514) (~6.07)
Helsinki Pratam] (17 ranks - - - - -
{=4.0)
Oala Pratocal 040" - - - - -
{-2.93)
Kpom Propcol - - 00025 - - -
{~0.60)
Pramal an Water and Health - - - - Q010 -
{=120)
Camstant 0.0067"" 00067 000127 0L0010* Q0014 0.0010
(=1122) { ~9.06) (3.14) (3.27) {~1255) (=1.41)
s valions 2152 2152 152 2152 159 1159
Mumber af countrias a8 L a8 a8 a3 a3
Sargan test 76.29 75.99 %27 7984 70.39 6746
AR{1) 441" A.44™ 345" kL v AT 138"
AR(2) 0,01 e 094 0054 L74"

Nore: Vaheesin parentheges are f-vahes ® ™ and ™" indicate “sgmnilicant™ af the WE level, the 53 level and the 13 level, respectively. Trade openme s, per
capita GNP, and it square term are instremented for uting predicied openness, pradicied per capita GDP and pradicted 1S squuame ferm mespecivehs

Source: Managi et al. (2009)
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After the Presentation

" Answer audience questions succinctly

" No bluffing......

" Finish when moderator says you are done
" Thank audience

" Stay for other speakers

" Engage audience members afterwards




